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1 AP10 , 7, 4  10 

a 17   .b -17       .c  37  .d          -37  

2 APa  

a 5   .b 4      .c  3  .d          -5  

3 AP3, x, 11 x  

a 14   .b 33       .c  7  .d          8 

4 a = 5 d=3   

a 12   .b 17       .c  23  d          20 

5 n 

a  
( )

  .b 
( )

      .c  
( )

 .d          
( )

 

6 S = 4n − nS 

a 12   .b 8       .c  6  .d          4 

7 3 , 1 , -1 , -3 , ……… AP 

a  -3     .b -1       .c  -2  .d          0 

8  

a  a , a + d , a + 2d , … ..  .b   a , a − d , a − 2d , …      

  .ca , ad , a × 2d , … …    .d     

9  a = n + 4a = 200n 

a 196        .b 204       .c  14.28 .d          14 

10 AP=32a − a=d   

a 2     .b 8       .c  4  .d          32 
 

11 APn  a = 24 − 3n 

a  15    .b 0       .c  18 .d          2 
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12 n  

a  a = a + (n − 1)d     .b  a = a + (n + 1)d  
 

     .c a = a − (n − 1)d  .d      a = a − (n + 1)d 

13  9 , 11 , 13 ,  ……………AP   

a 14  15    .b 1516       .c  1617 .d         1517 

14 3  

a  40       .b 30       .c  20 .d          10 

15 3 , 8 , 13 , 18  ………..AP  78 

a    14    .b 15       .c  16 .d          17 

 
 
 
 
 

ANSWER KEY 
 

B -10D -9A -8C -7D -6A -5B-4 C-3 A-2B-1 

C -15B -14D -13A -12C -11

 



 

.1   

(a)(0,0) (b)  (0,-2)(c)   (1,1)(d)(2,3) 

.2 (-3, -5)  

 (a) (b)  (c)  (d)  

.3 P(𝑥 , 𝑦 )𝑄(𝑥 , 𝑦 ) 

 (a) (𝑥 + 𝑥 ) + (𝑦 + 𝑦 ) 𝑢𝑛𝑖𝑡(b)  (𝑥 − 𝑥 ) + (𝑦 − 𝑦 ) 𝑢𝑛𝑖𝑡 

(𝑥 − 𝑥 ) + (𝑦 − 𝑦 ) 𝑢𝑛𝑖𝑡𝑠    (𝑐)    (𝑥 − 𝑥 ) + (𝑦 − 𝑦 )  (𝑑) 

.4 (p,q)

 (a)𝑝 − 𝑞 (b)  𝑝 + 𝑞(c)       𝑝 − 𝑞(d)𝑝 + 𝑞

.5 D 

 
 
 
 

(a)(2,3)  (b) (c)         (3,2)  (2,-3)(d) (-2, -3) 

.6 (3,5)(7,3) 

(a)(10,8) (b)  (5,4)(c)       (-10, 8)(d)(2, 1)

.7 A 

       
 
 
 
 

(a)√25 𝑢𝑛𝑖𝑡𝑠 (b) (c)     5 units  - 5(d)-25

.8 P(5,8)R(3,6)  

a √260 unit (b) 260 unit (c)    2 √2 𝑢𝑛𝑖𝑡(d) √2 𝑢𝑛𝑖𝑡

.9 ← 𝑥

(a)(𝑥, 0) (b) (0, 𝑥) (c)  (−𝑥, 𝑥)(d)(𝑥, −𝑥)
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.10 (2,3)← 𝑥

a 2 unit (b)  3 unit (c)   4 unit(d) 5 unit

.11 A(b,o)B(o,a)   

a √𝑎 + 𝑏 (b) √𝑎 − 𝑏 (c)  √ 𝑎 + 𝑏(d)√𝑎 − 𝑏

.12 (4,p)(1,0)5 unitp  

(a)4 (b) 4 (c)  1(d)

.13 p(x,y)A(x,y)𝐵(𝑥 , 𝑦 )𝑚 : 𝑚

=(x,y)  

(a),    , (𝑏) 

, (𝑐)  , (𝑑)

.14(0,2)(2,0)(0,0)

(a)4 unit (b) 6 unit (c)   6√ 2  𝑢𝑛𝑖𝑡(d) 

4+2√2 𝑢𝑛𝑖𝑡

.15 (2,4)(-3,-1)

(a)5
√ (b)  5√2 (c)  3√2(d) ±5

√

 
 

 

 

ANSWER KEY  

1 – A 2 – D 3 – C 4 – D 5 – B 6 – B 7 –  B 8 – C 9 – A 10 – B 

11 – A 12 –  A 13 – D 14 – D 15 – D      
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.1 

(a)2  (b)  3 (c)  4(d)5 

. 2 

 (a)
∑

∑
  (b) 

∑
 (c) 

∑
      (d)     

. 3 40 , 10 , 20 , 30 ,50   

(a) 40      (b) 5020  (c)    30  (d) 

. 4 20 , 10 , 20 , 10 , 20 , 30 

(a)10 (b)  30   (c)20   (d) 

. 5 8 , 12 , 8 , 16 ,8 , 12 

(a)12   (b) 8 (c) 4  (d) 16 

. 6 15 , 25 , 20 , 30 , 35 

(a)20  (b)   25   (c)30   (d) 15

. 7 

(a)2+3=   (b) += 

  (C )+3=  (d)

. 8 30

0 – 1010 – 2020 – 3030 – 40 

391310

 (a)20   (b)25 (c)12  (d)30 

. 9

(a) (b)(c)  (d)

.10Mode

 (a)          Mode = 2 Mean -3Median      (b)Mode = 3 Median -2 Mean    
(c)        Mode = 2 Mean – 3 Median (d) Mode =3 Mean – 2 Median  
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.11   

(a)    Median  (b)Mean (c)   Mode(d)

.12 2010

 (a)15  (b)           20  (c)     10 (d)  

.13 30 , 34 , 35 , 36 , 37 , 38 , 39 , 40  35Median 

 

(a) 1  (b) 1.5(c)2(d)0.5

.148=Mode 9= Mean =Median 

(a)8.57(b) 8.67(c) 8.97 (d) 9.24

.15 2010

30-4020-3010-200-10CI 

1552010f

(a)10  (b)  30         (c)       20   (d) 15 
 

 
 
 
 

ANSWER KEY 

1 – B 2 –  A 3 – D 4 – C 5 – B 6 – B 7 –  A 8 – B 9 –C 10 – B 

11 –A 12 – C 13 – D 14 – B 15 – C      
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.1𝑎 𝑥 + 𝑏 𝑦 + 𝑐 = 0𝑎 𝑥 + 𝑏 𝑦 + 𝑐 = 0

(Relation)

(a)= =    (b)  ≠  ≠ 

(c)   = ≠   (d)≠ = 

.22𝑥 + 3𝑦 − 9 = 04𝑥 + 6𝑦 − 27 = 0

 (a)     (b)

 (c)      (d)  

.3 4𝑥 + 𝑝𝑦 + 8 = 04𝑥 + 4𝑦 + 2 = 0P 

(a)2 (b) 4 (c)       2 (d)4 

.4 a x + b y + c = 0 a x + b y + c = 0 ≠  

 (a)  (b) 

(c)   (d)  

.5  
(a)𝑎𝑥 + 𝑏𝑥 + 𝑐 = 0  (b) 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0    

𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 (𝑐)  𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 (𝑑)     

.6 

(a)(parabola) (b) (c)       (d)

.7 𝑥 + 𝑦 + 3 = 0   2𝑥 + 3𝑦 + 5 = 0

(a) (b)  (c)        (d)

.8 𝑥 + 𝑦 = 5𝑥 − 𝑦 = 3𝑥𝑦 

b 41(b) 53  (c)    43 (d) 83

.9𝑥 + 2𝑦 = 32𝑥 + 4𝑦 = 𝑘𝐾

(a)3 (b)-3   (c)  2 (d)4

.10 46120
4𝑥 − 6𝑦 = 120(𝑎)   6𝑥 − 4𝑦 = 120(𝑏) 

 𝑥 + 𝑦 = 120(𝑐)    4𝑥 + 6𝑦 = 120(𝑑)
 



 

.11 𝑥 − 𝑦 = 3𝑥 + 𝑦 = 5𝑦   
1 (𝑎) (b) 2 (c)  3 (d)4

.12 (3, 𝑎)2𝑥 − 3𝑦 = 5a

(a)3 (b) (c)  −(d)

.13 𝑥 − 𝑦 = 8𝑥 = 8y  
(a)3 (b) 2(c)  0(d)1

.143𝑥 + 𝑦 − 5 = 02𝑥 − 𝑦 − 5 = 0

𝑥𝑦

(a)(2, −5) (b) (2, −4)(c)  (1, −5)(d) (2, −1)
 

.15 

(a)  (b)   (c)   (d)  
 

 

 

 

 

 

ANSWER KEY 

1 – A 2 – C 3 – B 4 – B 5 – C 6 – D 7 –  B 8 – A 9 – A 10 – D 

11 – A 12 –  B 13 – C 14 – D 15 – D      

 
  



 

.1 

(a)  (b)   (c)   (d) 

.2  

 (a)= =   (b)  = =  

(c) = =      (d)= = 

.3 

13,4,629 ,12 , 18   38 , 6 , 4   4 4 , 5 , 2  

(a)13 (b) 12(c) 23  (d)34 

.4 ∆𝐴𝐵𝐶𝐵𝐶 ∥ 𝐷𝐸

(a) =(b)   =

 =    (c)    (d) = 

.5 AC

(a)10   (b) 20   
(c) 15    (d)  18

.6 AD

(a)4cm     (b) 6cm      
(c) 12cm       (d)  10 cm 

.7 AC 

a 15cm  (b) 8cm    
(c)  5cm    (d)12cm 

.8 AD BC 

(a) 2AB =  3AD   (b)  4AB =  3AD 
     (c)   3AB =  4AD   3AB =  2AD    (d) 

.9 ∆𝐴𝐵𝐶 ∆𝐷𝐸𝐹A=470  E = 830   ……….= C  

(a)40 (b)50  (c)   60    (d)70  

 



 

.10∆𝐴𝐵𝐶∆𝐷𝐸𝐹 =∆𝐴𝐵𝐶 ~∆𝐷𝐸𝐹

(a) A  = F   (b)A   =  D  (c)    B  =  D   (d) B  = E 

.11 ABCDEF= =  

(a)    ∆𝐹𝐷𝐸 ~∆𝐴𝐵𝐶  (b) ∆𝐹𝐷𝐸 ~∆𝐶𝐴𝐵  
(c) ∆𝐶𝐵𝐴 ~∆𝐹𝐷𝐸(d)∆𝐵𝐶𝐴 ~∆𝐹𝐷𝐸

.12 ∆𝐴𝐵𝐶 ~∆𝑃𝑄𝑅𝑥 

 (a)2.5 cm    (b)          3.5 cm  
(c)      2.75cm   (d)  3cm  

.13 ABCDEFB  =  F  , A  =  E    

(a) =(b) =(c)  =(d)=

.14𝐷𝐸 ∥ 𝐴𝐵𝑥

(a)4    (b) 1 
(c)3   (d) 2 

.15   ADE   = ABC =  CE   

(a)2      (b)  5  
(c)      9/2      (d) 3  

 

.16 

(a)𝐴𝐵 = 𝐴𝐶 + 𝐵𝐶  (b)  𝐴𝐶 = 𝐴𝐵 + 𝐵𝐶  
(c) 𝐵𝐶 = 𝐴𝐵 + 𝐴𝐶(d)𝐴𝐶 = 𝐴𝐵 + 𝐵𝐶  

 

.17  

 (a)1,2, √3 (b)  1,2,4 (c) 1, 2 ,3    (d)1 , √2 , 3 

.18 AC       

(a)3    (b) 4
5  (c)            (d)7 

.19 12

(a)12 (b)  12 √2 √12   (c)    (d)24 
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.20 ∆𝐴𝐵𝐷A𝐴𝐶 𝐵𝐷

(a) 𝐴𝐵 = 𝐵𝐶 . 𝐵𝐷     (b)  𝐵𝐶 = 𝐴𝐵. 𝐵𝐷    (c) 
𝐵𝐷 = 𝐴𝐵. 𝐵𝐶    (d) 𝐴𝐵 = 𝐵𝐶 . 𝐵𝐷

.21  ∆𝐴𝐵𝐶ABC  = 900 𝐴𝐶 =

(a) AB − 𝐵𝐶              (b)   AB + 𝐵𝐶    
(c)  BC − 𝐴𝐵        (d)   AB − 2𝐵𝐶

.22 PQR 𝑄𝑅 = 𝑃𝑄  + 𝑃𝑅

(a)Q  (b) R    (C )  𝑃   (d)

.23 ∆𝐴𝐵𝐶AB = 𝐴𝐶 + 𝐵𝐶ACB =
a 60   (b)40     (c)  50  90(d) 

.24 LMN LNM=900LN = NM =   LMN  
(a) 45 (b)30  (c)  90    (d) 50   

.253√2 

 (a)√2 𝑐𝑚 (b)3cm   (c)  √2 𝑐𝑚12 (d) √2 − 2 𝑐𝑚 

.26 8060  
(a)    120 𝑐𝑚    (b) 20 𝑐𝑚(c)   100 𝑐𝑚 (d)140 𝑐𝑚 

.27 ABCD5√2 = 𝐴𝐶 

 (a)20 cm  (b)         25cm (c)     50 𝑐𝑚   (d) √50𝑐𝑚  

.28 ABCDEF 3=BC 4=EF 54 = 𝑎r (ABC) 

=𝑎r(∆𝐷𝐸𝐹)

(a)  108 𝑐𝑚(b)  48 𝑐𝑚(c)   96 𝑐𝑚(d) 100 𝑐𝑚

.294:9
(a)2:3   (b) 4:9(c) 81 :16 (d) 16 :81

.30   ∆𝐴𝐵𝐶 ~ ∆ 𝐷𝐸𝐹 6412115.4 =EF=BC 
(a)11.2 cm   (b)  15.1cm  (c)       11 cm     (d) 12.2 cm  

 

ANSWER KEY 

1 – B 2 –  A 3 – B 4 – D 5 – B 6 – A 7 –  C 8 – C 9 – B 10– C 

11 –B 12 – D 13 – B 14 – D 15 – C 16 – B 17 –  A 18 – C 19 – B 20 – A 

21 – B 22 –  C 23 – D 24 – A 25 – B 26 –C 27 – A 28 – C 29 – D 30 – A  

  



 

.1 

(a)2  (b)  1 (c)  3(d)4 

.2 

 (a)   (b)   (c)      (d)   

.3 PTQTT  POQ =1100 PTQ 

    
(a) 110   (b) 55 

140   (c)         (d)35

.4 BC 

(a)   (b)   

   (c)      (d) 

.5 

(a)    (b)    (c)   (d)  

.6 6𝑐𝑚 10

(a)8cm   (b)   7cm   (c)4cm    9cm  (d)  

.7 PBPAQCD

DQ=2cmPA=10cm PC

(a)8cm  (b) 7cm 
  (C ) 4𝑐𝑚  (d)9cm

.8 

a  80   (b) 180    (c)   90   100 (d) 

.9 5PPQOP

OQ=12cm PQ

(a)12𝑐𝑚  (b)13 𝑐𝑚  (c)8.5 𝑐𝑚(d) √119𝑐𝑚

 
 



 

.10PPAPB 80

 POA  

 (a) 50 (b)60     
(c)    70    (d)  80 

.11 2:3  

(a)    3   (b)4(c)   5(d)2

.12 (A B’C’) (ABC)

 (a)    (b)             

(c)         (d)   

.13 OPC,PA CDAP=3cm ,CD=5cm PC

 
(a) 3cm    (b) 8cm  
 (c)5cm  (d)2cm

.14

(a)(b) (c)  (d) 

.15   QP=4.5cmQR

(a)9cm       (b)  15cm  
(c)       18 cm      (d) 13.5 cm  

 
 
 
 

ANSWER KEY 

1 – A 2 –  B 3 – D 4 – C 5 – D 6 – A 7 –  A 8– C 9 –D 10 – A 

11 –D 12 – C 13 – B 14 – B 15 – A        

 
  



 

.1 tan45

(a)1  (b)  0 (c)   √3(d)
√

 

.2 Sin60 × 𝑐𝑜𝑠30

(a)    (b)  
 √   (c)    (d)  

.3 = 𝑆𝑖𝑛(90 − 𝜃) 

(a) sec 𝜃 (b) cot 𝜃    (c)cos 𝜃    (d)tan 𝜃 

.4 𝑆𝑖𝑛 𝜃 =  𝑐𝑜𝑠 𝜃 =tan 𝜃  

(a) 4/5  (b)  5/3  (c) 5/4  (d) 3/4 

.5 𝑆𝑖𝑛 𝜃 =  cosec 𝜃  

(a)    (b)  
 

  (c)    (d)  

.6  cos 48 − 𝑠𝑖𝑛42

(a)    (b)    0  (c)    1  (d)  

.7 

(a) 4  (b) 3  (c )1 (d)2

.8 𝑆𝑖𝑛 𝐴 =  
√

  A 

a  90   (b) 60    (c)   30   45    (d) 

.92 𝑆𝑖𝑛𝜃 =  √3 cos𝜃 

(a)  (b)  √3  (c)  
√

 (d) 
√

.10√1 − 𝑐𝑜𝑠 θ 

 (a) 𝑆𝑖𝑛 𝜃(b)Sin θ    (c)    tan θ   (d)    

11 (sin 30 + cos 30 ) − (𝑠𝑖𝑛60 + 𝑐𝑜𝑠60 )

 (a)−1 (b)1    (c)   1    (d)  2 

12𝑆𝑖𝑛 𝜃 = cos 𝜃𝜃

 (a) 0(b) 30    (c)   45    (d)  90 
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13 
 

 (a)1(b)0 (c)   sin 45   (d) tan 90 
14= 9𝑠𝑒𝑐 𝐴 − 9𝑡𝑎𝑛 𝐴

 (a)1(b) 8      (c)   9    (d)  0 

15 

 (a) sin 60(b) cos60        (c)   tan60   (d)  Sin30 
 
 
 
 
 
 

ANSWER KEY 

1 – A 2 –  B 3–C 4 –D 5 – A 6 – B 7 –  C 8– D 9 –A 10 – B 

11 –C 12 – C 13 – B 14 – C 15 – A       

 
  



 

.1 θ

(a)30   (b)  45   
(c) 90 (d)60 

               √3 
.2 C 

(a)45   (b)  60  
(c)  90 (d)30 

 

.3 AE

(a)  45 𝑐𝑚  (b) 45 √2 𝑐𝑚  

   (c)90 𝑐𝑚      (d)90√2𝑐𝑚 
 

.4 AB 

(a)20 𝑚   (b) 5m    

 (c) 10√3   (d)       5√3 

.5 ABCDAP

(a)  6𝑐𝑚  (b) 2𝑐𝑚4√3

4𝑐𝑚  (c)     (d)8𝑐𝑚  
 

.6 AD=4cm , BD=3cm CB=12cmtan𝜃 

(a)     (b)      

 (c)       (d)   

.7 

(a)90  (b)  60(c)  45(d)15 
.8 𝑆𝑖𝑛 𝜃 + 𝑐𝑜𝑠 𝜃 = − 

2(a)   (b)3     (c)  4  1  (d) 



 

.9 sin(90 − 𝐴)Cos A  

(a)  (b)   (c) (d)

.10tan 2A = cot (A − 18 )A

 (a) 27(b) 36     (c)   24   (d)  18 

11  

 (a) 
√

 (b) 
√

   (c)   1    (d)  √3 

12 
 

=  … … …

 (a)Sin  A(b)cot A    (c)  cos A   (d) tan A 
13 cosec − 1  =…………

 (a)Acot(b)tan A   (c)   sin  A  (d) A𝑐𝑜𝑠 

14 + 𝑆𝑖𝑛 𝐴 

 (a)cot A (b)2 sin A     (c)  2 cos A    (d) sec A 

15=  Sin 𝐶 

 (a)  (b)          (c)      (d)   

 
 
 
 
 
 
 

ANSWER KEY 

1 – A 2 –  B 3–C 4 –D 5 – A 6 – B 7 –  C 8– D 9 –A 10 – B 

11 –C 12 – D 13 – A 14 – B 15 – C      

 
  



 

.1 

(a) 4π𝑟 (b)  3π𝑟   (c)  π𝑟(d) 2π𝑟  

.2 r‘h’

(a) π𝑟  h (b) 4 π𝑟 h  (c)  2π𝑟 h(d) π𝑟 h  

.3 

(a)  (b)    (c)  (d)   

.4 

(a)  (b)    (c)   (d)        

.5 

(a)  𝜋𝑟 (b)  1 2 𝜋𝑟 ℎ    1 3 𝜋𝑟 ℎ (c)   (d)  2 3 𝜋𝑟   

.6 1410=

(a)880cm  (b)   800cm   (c)    440cm 1760 cm   (d)  

.7 

(a) π[(r +  r )l + r + r ]   (b)   π(r +  r )l] 
 (c)   π[(r +  r ) + r + r ](d) [(r +  r )l + r + r ] 

.8 12m× 9m  18m×= 

(a)900m  (b)   872m   (c)    972m 950 m   (d)  

.98=l 4=b 5=h 

(a) 180Cu.Unit    (b)150CuU.Unit   
(c) 140 Cu Unit     (d)160 Cu. Unit 

.1012

 (a)1728𝑐𝑚(b)1564 𝑐𝑚    (c)  1700𝑐𝑚   (d) 1500𝑐𝑚 

11 8

 (a)240𝑐𝑚  (b) 256𝑐𝑚     384𝑐𝑚     (c)   (d) 48𝑐𝑚  

12TSA LSA4:3 

 (a) h = 3r(b)r = 3h   (c)  r − h − 3   (d) r + h − 3 



 

13 22

 (a)30𝑐𝑚(b)22𝑐𝑚(c)  38.5𝑐𝑚   (d) 30.5𝑐𝑚 

14100cm×80 cm × 64cm   

 (a)80 𝑐𝑚 (b)100 cm    (c)  64 cm   (d) 164 cm  

 .15600.  

 (a)12 cm (b)10 cm        (c)      6 cm    (d) 60 cm  

.16 

(a) 3π𝑟 (b)  2π𝑟    (c)  π𝑟(d) 3π𝑟   

.17 

(a) 𝜋𝑟(2𝑟 + 2ℎ + 𝑙) (b)  𝜋(2𝑟 + 2ℎ)   
(c)  π(r + h + l)   (d) πr(2h + l)  

.18 

(a) 𝜋𝑟(𝑙 + 𝑟)(b)  𝜋𝑟(𝑙 +  𝑟 )  
(c)  πr(l + 2r)(d) π(l + 2r) 

.19 

(a) 2𝜋(𝑟 + ℎ)(b)  2𝜋𝑟(2𝑟 + ℎ) 
 (c)  2π(r + h)    (d) 2π(2r + h) 

.20 

(a)  𝜋𝑟𝑙  (b)   𝜋(𝑟 + 𝑙)    𝜋𝑟(𝑟 + 𝑙) (c)          (d) 𝜋𝑟 

.21 

(a) πr ℎ (b)    1/3 πr ℎ  (c)      2/3 πr ℎ    4/3 πr  (d) 

.22 

(a) 6𝑎   (b)   4𝑎  (c)   5𝑎 (d)6𝑎  

.23 

(a)  (b)     (c)          (d)  

.24294

(a) 6 cm  (b)8 cm      (c) 7cm    (d)5cm  

.256m , 8m 3.5m 

 (a)98𝑚(b)112 𝑚     (c)     194 𝑚    (d) 108𝑚 
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 (a)6𝑐𝑚  (b)8cm      4cm (c)     (d) 2cm  

27

 (a)(b)   (c)   (d) 

28 

 (a)(b)

(c) (d)  

292744𝑐𝑚

 (a) 196𝑐𝑚(b) 1176𝑐𝑚    (c)   784𝑐𝑚    (d)  588𝑐𝑚 

30  .  

 (a)4(b)2       (c)      6   (d) 8 

 
 

ANSWER KEY 

1 – A 2 –C 3–C 4 –B 5 – C 6 – A 7 –  A 8– C 9- D 10 – A 

11 –B 12 – A 13 –C 14 – A 15 – B 16 – B 17 –A 18–C 19 –B 20 – C 

21 – A 22 –  C 23–B 24 C 25 – A 26 –C 27 – A 28 –B 29 – C 30 – C 

 
  



 

P. No. 21            

1 𝑎𝑥 + 𝑏𝑥 + 𝑐 = 0 

(a  
±

  (b
±√

 (c−𝑏 ±
√

 (d 
± √  

 

2 𝑎𝑥 + 𝑏𝑥 + 𝑐 = 0 

(a  𝑏 − 4𝑎𝑐 = 0    (b   𝑏 + 4𝑎𝑐 = 0 
 (c𝑏 − 4𝑎𝑐 < 0  (d𝑏 − 4𝑎𝑐 > 0   

3  

 (a  𝑥 + 2𝑥 = 3     (b2𝑥 − 𝑥 + 8 = 0 
 (c 2𝑥 + 𝑥 + 3 = 0  (d3𝑥 = 3   

4 𝑥 − 2𝑥 − 3 = 0 

 (a  3,2   (b−3 , −2  (c 3, −1   (d1 , −3    

5  

(a𝑎𝑥 − 𝑏𝑥 + 𝑐 = 0    (b𝑎𝑥 + 𝑏𝑥 + 𝑐 = 0 
     (c 𝑎𝑥 − 𝑏𝑥 − 𝑐 = 0  (d𝑎𝑥 + 𝑏𝑥 = 𝑐   

6  

       (a    𝑏 − 4𝑎𝑐  (b𝑏 + 4𝑎𝑐  (c 𝑏 − 4𝑎 (d𝑏 − 4𝑐   

7 ∆= 0  

  (a        (b  (c   (d   

8 2𝑥 − 4𝑥 + 3 = 0∆ 

 (a−34    (b8   (c 2  (d−8   

9  

(a  1     (b2 (c 3  (d4   

10 𝑥 + 6𝑥 + 𝑘 = 0k   

(a  9     (b−9 (c 8  (d5   

11 𝑥 − 2𝑥 = 0 

(a  −2,0   (b0, 0   (c 2,0  (d2,1   

12 𝑥 + = 0 

(a  4,6    (b4 ,4   (c 2,8  (d4,5   



 

P. No. 22            

13 𝑥 − 3𝑥 + 2 = 02𝑥 − 5x + 2 = 0 

(a  𝑥 = 2   (b𝑥 = 1   (c 𝑥 = −2  (d𝑥 =    

14 2 

(a   (b (c (d 

15  𝑃𝑥 + 𝑞𝑥 + 𝑟 = 0 

(a   𝑞 + 4𝑝𝑟    (b 𝑃 − 4𝑞𝑟  (c  𝑟 − 4𝑝𝑞 (d 𝑞 − 4𝑝𝑟  

ANSWER KEY  

 

1 – b 2 – d 3 – c  4 – c 5 – b 6 – a 7 –  c 8 – d 9 – b 10 – a 

11 – c 12 –  c 13 – a 14 – c 15 – d      


